

SOLUTIONS WITH INTERIOR BUBBLE AND BOUNDARY LAYER FOR AN ELLIPTIC PROBLEM

LIPING WANG

Department of Mathematics, Chinese University of Hong Kong, Shatin, Hong Kong.
lpwang@math.cuhk.edu.hk

JUNCHENG WEI

Department of Mathematics, Chinese University of Hong Kong, Shatin, Hong Kong.
wei@math.cuhk.edu.hk

Dedicated to Professor E.N. Dancer on the occasion of his 60th birthday

Abstract We study positive solutions of the equation $\varepsilon^2 \Delta u - u + u^{\frac{n+2}{n-2}} = 0$, where $n = 3, 4, 5$, and $\varepsilon > 0$ is small, with Neumann boundary condition in a smooth bounded domain $\Omega \subset R^n$. We prove that, along some sequence $\{\varepsilon_j\}$ with $\varepsilon_j \rightarrow 0$, there exists a solution with an interior bubble at an innermost part of the domain and a boundary layer on the boundary $\partial\Omega$.

1. INTRODUCTION AND STATEMENT OF THE RESULT

In recent years, there have been many works devoted to the study of the following singularly perturbed Neumann problem:

$$(1.1) \quad \varepsilon^2 \Delta u - u + u^p = 0, \quad u > 0 \quad \text{in } \Omega, \quad \frac{\partial u}{\partial \nu} = 0 \quad \text{on } \partial\Omega$$

where Ω is a smooth bounded domain in R^n , $p > 1$ and $\varepsilon > 0$ is small. Problem (1.1) arises in the study of many reaction-diffusion systems in chemistry or biology, see [12] and the references therein for backgrounds and progress up to 2004.

When $p < \frac{n+2}{n-2}$, it is known that there are many solutions with point condensations in the interior or on the boundary: for example, Gui and Wei [7] proved that given any two positive integers l_1, l_2 , there are solutions to (1.1) with l_1 interior spikes and l_2 boundary spikes. Lin, Ni and Wei [8] showed that there are at least $\frac{C}{\varepsilon^n (\ln \varepsilon)^n}$ number of interior spikes solutions. When $p = \frac{n+2}{n-2}$, it is known that non-constant solutions exist for ε small enough [2], and the least energy solution blows up, as $\varepsilon \rightarrow 0$, at a point which maximizes the mean curvature of the boundary [1]. Higher energy solutions have also been exhibited, blowing up at one [13] or several (separated) boundary points [5][19].

However, the question of existence of **interior blow-up solutions** is still open. It is proved in [4], [6] and [14] that there are no interior bubble solutions.

In another direction, Malchiodi and Montenegro [10] proved that there exists solution concentrating on the whole boundary along some sequence $\{\varepsilon_j\} \rightarrow 0$. This boundary layer solution exists for any $p > 1$ and for any smooth bounded domain Ω .

1991 *Mathematics Subject Classification*. Primary: 35B40, 35B45; Secondary: 35J25, 35J67.
Key words and phrases. Semilinear elliptic problem, critical Sobolev exponent, blow up.

When $\Omega = B_1(0)$, $p = \frac{n+2}{n-2}$, Wei and Yan [18] have built up an interior bubble solution on the top of the boundary layer solution, at least when the dimension $n = 3, 4, 5$. The solutions constructed in [18] are radially symmetric. In this paper, we consider general smooth bounded domain case and establish the same result.

Namely, we consider the following equation

$$(1.2) \quad \begin{cases} \varepsilon^2 \Delta u - u + n(n-2)u^{\frac{n+2}{n-2}} = 0 & \text{in } \Omega, \\ u > 0 & \text{in } \Omega, \\ \frac{\partial u}{\partial \nu} = 0 & \text{on } \partial\Omega. \end{cases}$$

Let $d_x = \text{dist}(x, \partial\Omega)$, where dist is the distant function in the general meaning, and $\Omega_\lambda = \{y \mid \frac{y}{\lambda} \in \Omega\}$. Let $d_\Omega = \max_{x \in \Omega} d_x$. For given positive numbers γ and $\sigma < \frac{\gamma}{100}$ small enough, let

$$(1.3) \quad M_\gamma = \{a \in \Omega \mid d_a > \gamma\}, \quad \lambda \in \Lambda := (e^{\frac{an\gamma-2\sigma}{\varepsilon}}, e^{\frac{an d_\Omega+2\sigma}{\varepsilon}})$$

where $a_n = 2\beta$ if $n = 3, 5$, $a_4 = \beta$ and $1 - \sigma < \beta < 1 + \sigma$.

In [10], it is proved that along $\varepsilon_j \rightarrow 0$ (1.2) has a boundary layer solution W_{ε_j} which is uniformly bounded and concentrating on $\partial\Omega$. Asymptotically, it can be proved (Lemma 2.2)

$$(1.4) \quad C_1 \exp\left\{-\frac{(1+\sigma)d_x}{\varepsilon_j}\right\} \leq W_{\varepsilon_j}(x) \leq C_2 \exp\left\{-\frac{(1-\sigma)d_x}{\varepsilon_j}\right\}$$

where C_1, C_2 are positive numbers.

From now on, we always consider $a \in M_\gamma$ and the sequence ε_j as in [10]. We omit index j for simplicity.

By suitable rescaling, (1.2) becomes

$$(1.5) \quad \begin{cases} \Delta u - (\lambda\varepsilon)^{-2}u + n(n-2)u^{\frac{n+2}{n-2}} = 0 & \text{in } \Omega_\lambda, \\ u > 0 & \text{in } \Omega_\lambda, \\ \frac{\partial u}{\partial \nu} = 0 & \text{on } \partial\Omega_\lambda. \end{cases}$$

We set

$$(1.6) \quad S_\lambda[u] := \Delta u - (\lambda\varepsilon)^{-2}u + n(n-2)u_+^{\frac{n+2}{n-2}}$$

and

$$(1.7) \quad J_\lambda[u] := \frac{1}{2} \int_{\Omega_\lambda} (|\nabla u|^2 + (\lambda\varepsilon)^{-2}u^2) - \frac{(n-2)^2}{2} \int_{\Omega_\lambda} u_+^{\frac{2n}{n-2}}.$$

We recall that, according to [3], the functions

$$(1.8) \quad U_{a,\lambda} = \left(\frac{\lambda}{1 + \lambda^2|x-a|^2}\right)^{\frac{n-2}{2}}, \quad \lambda > 0, \quad a \in R^n$$

are the only solutions to the problem

$$\Delta u + n(n-2)u^{\frac{n+2}{n-2}} = 0, \quad u > 0 \quad \text{in } R^n.$$

The main result in this paper is:

Theorem 1.1. *Let $n = 3, 4, 5$ and $\Omega \subseteq \mathbb{R}^n$ be a smooth bounded domain. Then there exist a sequence $\varepsilon_j \rightarrow 0$ and a sequence of solution u_{ε_j} of (1.2) with following properties:*

(1) u_{ε_j} has a local maximum point a_{ε_j} , such that

$$a_{\varepsilon_j} \rightarrow a_0 \in \Omega, \quad d_{a_{\varepsilon_j}} \rightarrow d_\Omega \quad \text{as } j \rightarrow \infty;$$

(2) $u_{\varepsilon_j} = \varepsilon_j^{\frac{n-2}{2}} U_{a_{\varepsilon_j}, \lambda_{\varepsilon_j}}(x) + W_{\varepsilon_j} + o(1)$ where $\lambda_{\varepsilon_j} \sim \exp\{\frac{a_n + o(1)}{\varepsilon_j} d_{a_{\varepsilon_j}}\}$. As a consequence, $u_{\varepsilon_j}(a_{\varepsilon_j}) \sim (\lambda_{\varepsilon_j} \varepsilon_j)^{\frac{n-2}{2}}$ and $u_{\varepsilon_j} \rightarrow 0$ for any $x \in M_\gamma \setminus B_\delta(a_{\varepsilon_j})$, where δ is any small positive number, and u_{ε_j} blows up at a_0 .

The paper is organized as follows: In section 2, we construct suitable approximate solution W and study its properties. In section 3, we solve the linear problem at W in a finite-codimensional space. Then in section 4, we are able to solve the nonlinear problem in that space. In section 5, we study the remaining finite-dimensional problem and prove Theorem 1.1. The proof of Lemma 2.3 may be found in Appendix.

Throughout the paper, the letter C will denote various constant independent of ε and λ .

2. APPROXIMATE SOLUTION

In this section, we construct suitable approximate solutions. Let W_ε be the solution of (1.2) constructed in [10]. First, we need to study the properties of W_ε . Following Remark 5.2 on page 138 in [10], we have the following lemma:

Lemma 2.1. *Consider the following eigenvalue problem :*

$$\varepsilon^2 \Delta \psi - \psi + n(n-2)W_\varepsilon^{\frac{4}{n-2}} \psi = \mu \psi, \quad \psi \in H^1(\Omega).$$

If $(\psi_\varepsilon, \mu_\varepsilon), \psi_\varepsilon \not\equiv 0$ is a solution of the above problem, then we have $|\mu_\varepsilon| \geq C\varepsilon^{n-1}$.

From Lemma 2.1, we obtain

Corollary 2.1. *The linearized operator $L_\varepsilon(\psi) := \varepsilon^2 \Delta \psi - \psi + n(n-2)W_\varepsilon^{\frac{4}{n-2}} \psi$ is an invertible operator from $H^2(\Omega)$ to $L^2(\Omega)$. Furthermore, we have*

$$\|\psi\|_{L^\infty(\Omega)} \leq C\varepsilon^{-\alpha} \|\varepsilon^2 \Delta \psi - \psi + n(n-2)W_\varepsilon^{\frac{4}{n-2}} \psi\|_{L^\infty(\Omega)}$$

where $\alpha > n+1$ is a fixed constant.

Proof. Using Lemma 2.1, we have

$$\|\psi\|_{L^2(\Omega)} \leq C\varepsilon^{1-n} \|\varepsilon^2 \Delta \psi - \psi + n(n-2)W_\varepsilon^{\frac{4}{n-2}} \psi\|_{L^2(\Omega)}.$$

Observe that

$$\|\Delta \psi\|_{L^2(\Omega)} \leq \varepsilon^{-2} \|\varepsilon^2 \Delta \psi - \psi + n(n-2)W_\varepsilon^{\frac{4}{n-2}} \psi\|_{L^2(\Omega)} + C\varepsilon^{-2} \|\psi\|_{L^2(\Omega)}.$$

Hence

$$\|\psi\|_{H^2(\Omega)} \leq C \|\Delta \psi\|_{L^2(\Omega)} + C \|\psi\|_{L^2(\Omega)} \leq C\varepsilon^{-(1+n)} \|\varepsilon^2 \Delta \psi - \psi + n(n-2)W_\varepsilon^{\frac{4}{n-2}} \psi\|_{L^2(\Omega)}.$$

By a bootstrapping argument, we get the desired result. \square

The decay rate of W_ε can also be estimated.

Lemma 2.2. *It holds*

$$(2.1) \quad C_1 \exp\left\{-\frac{(1+\sigma)d_x}{\varepsilon_j}\right\} \leq W_{\varepsilon_j}(x) \leq C_2 \exp\left\{-\frac{(1-\sigma)d_x}{\varepsilon_j}\right\}.$$

Proof. Let $h_{\sigma,\varepsilon}$ be the unique solution of

$$(2.2) \quad \varepsilon^2 \Delta h_{\sigma,\varepsilon} - (1-\sigma)^2 h_{\sigma,\varepsilon} = 0 \text{ in } \Omega, \quad h_{\sigma,\varepsilon} = 1 \text{ on } \partial\Omega.$$

By the vanishing viscosity method ([9]), we have

$$(2.3) \quad h_{\sigma,\varepsilon} \sim e^{-\frac{(1-\sigma+o(1))d_x}{\varepsilon}}.$$

Since $W_\varepsilon \geq C$ on $\partial\Omega$, and $\varepsilon^2 \Delta W_\varepsilon - W_\varepsilon \leq 0$, by comparison principle, we obtain

$$(2.4) \quad Ch_{0,\varepsilon}(x) \leq W_\varepsilon(x).$$

On the other hand, from ([10]), we see that

$$W_\varepsilon - w\left(\frac{d_x}{\varepsilon}\right)\eta(x) = \phi_\varepsilon = o(1)$$

where $\eta(x) = 1$ for $d_x \leq \delta$, $\eta(x) = 0$ for $d_x > 2\delta$ and w is the solution of the problem

$$-w'' + w = w^{\frac{n+2}{n-2}}, \quad w > 0 \text{ in } \mathbb{R}^1, \quad w(x) \rightarrow 0 \text{ as } |x| \rightarrow +\infty.$$

Now ϕ_ε satisfies

$$\varepsilon^2 \Delta \phi_\varepsilon - \phi_\varepsilon + o(\phi_\varepsilon) + O(e^{-\frac{d_x}{\varepsilon}}) = 0$$

in Ω and $\phi_\varepsilon = o(1)$ on $\partial\Omega$. By comparison principle again, we have

$$(2.5) \quad |\phi_\varepsilon| \leq \sigma^{-1} Ch_{\sigma,\varepsilon}.$$

Combining (2.4) and (2.5), we obtain the lemma. \square

Next we consider a linear Neumann problem which can be viewed as a projection of $U_{a,\lambda}$

$$(2.6) \quad \begin{cases} \Delta V_{a,\lambda} - \varepsilon^{-2} V_{a,\lambda} + n(n-2)U_{a,\lambda}^{\frac{n+2}{n-2}} = 0 & \text{in } \Omega, \\ \frac{\partial V_{a,\lambda}}{\partial \nu} = 0 & \text{on } \partial\Omega, \end{cases}$$

where $U_{a,\lambda}$ is defined as in (1.8).

Define

$$(2.7) \quad \begin{aligned} W_1(y) &:= \lambda^{-\frac{n-2}{2}} V_{a,\lambda}\left(\frac{y}{\lambda}\right), \\ W_2(y) &:= (\lambda\varepsilon)^{-\frac{n-2}{2}} W_\varepsilon\left(\frac{y}{\lambda}\right), \quad W := W_1 + W_2. \end{aligned}$$

By maximum principle, $0 \leq W_1 \leq U_{\xi,1}$ where $\xi = \lambda a$.

When $n = 3$, let

$$(2.8) \quad V_{a,\lambda}(x) = U_{a,\lambda}(x) - \frac{1}{\lambda^{\frac{1}{2}}|x-a|} (1 - e^{-\frac{|x-a|}{\varepsilon}}) + \varphi_{a,\lambda}(x).$$

Then $\varphi_{a,\lambda}(x)$ satisfies

$$\begin{cases} \varepsilon^2 \Delta \varphi_{a,\lambda} - \varphi_{a,\lambda} - U_{a,\lambda} + \frac{1}{\lambda^{\frac{1}{2}}|x-a|} = 0 & \text{in } \Omega, \\ \frac{\partial \varphi_{a,\lambda}}{\partial \nu} + \frac{\partial}{\partial \nu} \left(U_{a,\lambda} - \frac{1}{\lambda^{\frac{1}{2}}|x-a|} (1 - e^{-\frac{|x-a|}{\varepsilon}}) \right) = 0 & \text{on } \partial\Omega. \end{cases}$$

By the estimates in [16], we get

$$(2.9) \quad |\varphi_{a,\lambda}| = O\left(\frac{1}{\varepsilon^2 \lambda^{\frac{3}{2}} (1 + \lambda|x-a|)} + \frac{1}{\varepsilon \lambda^{\frac{1}{2}}} e^{-\max\{\frac{|x-a|}{\varepsilon}, \frac{d_a}{\varepsilon}\}}\right).$$

Using (2.7) and (2.9), we have

$$(2.10) \quad \begin{aligned} r_l W_1(y) = & U_{\xi,1}(y) - \frac{1}{|y-\xi|} (1 - e^{-\frac{|y-\xi|}{\lambda\varepsilon}}) \\ & + O\left(\frac{1}{\varepsilon^2 \lambda^2 (1 + |y-\xi|)} + \frac{1}{\varepsilon \lambda} e^{-\max\{\frac{|y-\xi|}{\lambda\varepsilon}, \frac{d_a}{\varepsilon}\}}\right). \end{aligned}$$

If $|y-\xi| \geq \sigma d_a \lambda$, then using (2.10) we have

$$(2.11) \quad |W_1(y)| = O\left(\frac{1}{\lambda^2} + \frac{1}{\varepsilon \lambda} e^{-\max\{\frac{|y-\xi|}{\lambda\varepsilon}, \frac{d_a}{\varepsilon}\}}\right).$$

Moreover, by similar computation if $|y-\xi| \geq \sigma d_a \lambda$,

$$\begin{aligned} |\partial_\lambda W_1(y)| &= O\left(\frac{1}{\lambda^3} + \frac{1}{\varepsilon \lambda^2} e^{-\max\{\frac{|y-\xi|}{\lambda\varepsilon}, \frac{d_a}{\varepsilon}\}}\right), \\ |\partial_\lambda^2 W_1(y)| &= O\left(\frac{1}{\lambda^4} + \frac{1}{\varepsilon \lambda^3} e^{-\max\{\frac{|y-\xi|}{\lambda\varepsilon}, \frac{d_a}{\varepsilon}\}}\right). \end{aligned}$$

When $n = 4, 5$,

$$(2.12) \quad W_1(y) = U_{\xi,1}(y) - \lambda^{-\frac{n-2}{2}} (\varphi_2(\frac{y}{\lambda}) + \varphi_3(\frac{y}{\lambda})),$$

where $\varphi_2(x)$ satisfies

$$\begin{cases} \Delta \varphi_2 - \varepsilon^{-2} \varphi_2 + \varepsilon^{-2} U_{a,\lambda} = 0 & \text{in } \Omega, \\ \frac{\partial \varphi_2}{\partial \nu} = 0 & \text{on } \partial\Omega, \end{cases}$$

and $\varphi_3(x)$ satisfies

$$\begin{cases} \Delta \varphi_3 - \varepsilon^{-2} \varphi_3 = 0 & \text{in } \Omega, \\ \frac{\partial \varphi_3}{\partial \nu} = \frac{\partial U_{a,\lambda}}{\partial \nu} & \text{on } \partial\Omega. \end{cases}$$

Similar to estimates in Lemma A.1 of [17] we have

$$|\varphi_2| \leq \frac{C}{\lambda^{\frac{6-n}{2}} \varepsilon^3 (1 + \lambda|x-a|^{n-4})}, \quad |\varphi_3| = O(\lambda^{-\frac{n-2}{2}}).$$

Hence

$$W_1(y) = U_{\xi,1}(y) - \tilde{\varphi}_2(y) - \tilde{\varphi}_3(y)$$

where

$$|\tilde{\varphi}_2(y)| \leq \frac{C}{\lambda^2 \varepsilon^3 (1 + |y-\xi|^{n-4})}, \quad |\tilde{\varphi}_3(y)| = O\left(\frac{1}{\lambda^{n-2}}\right).$$

If $|y-\xi| \geq \sigma d_a \lambda$, we get

$$(2.13) \quad |W_1(y)| \leq C \varepsilon^{-3} \lambda^{-n+2}.$$

By similar computation if $|y-\xi| \geq \sigma d_a \lambda$,

$$(2.14) \quad |\partial_\lambda W_1(y)| \leq C \varepsilon^{-3} \lambda^{-n+1}, \quad |\partial_\lambda^2 W_1(y)| \leq C \varepsilon^{-3} \lambda^{-n}.$$

Next we define two Sobolev norms. Let

$$\|\phi\|_* = \sup_{y \in \Omega_\lambda} (1 + |y - \xi|)^{\frac{n-2+\sigma}{2}} |\phi(y)|, \quad \|f\|_{**} = \sup_{y \in \Omega_\lambda} (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} |f(y)|.$$

In the Appendix, we shall prove

Lemma 2.3. *There hold*

$$(2.15) \quad \begin{aligned} \|S_\lambda[W]\|_{**} &\leq C\lambda^{-\frac{\beta_n+\sigma}{2}}, & \|\partial_\lambda S_\lambda[W]\|_{**} &\leq C\lambda^{-\frac{\beta_n+\sigma+2}{2}}, \\ \|\partial_\lambda^2 S_\lambda[W]\|_{**} &\leq C\lambda^{-\frac{\beta_n+\sigma+4}{2}} \end{aligned}$$

where $\beta_n = 1$ if $n = 3$ and $\beta_n = 2$ if $n = 4, 5$. Furthermore, when $n = 3$, we have

$$(2.16) \quad \begin{aligned} J_\lambda[W] &= J_\lambda[W_2] + \int_{R^3} U_{0,1}^6 + \frac{3}{2\lambda\varepsilon} \int_{R^3} U_{0,1}^5 - (B_3 + o(1))(\lambda\varepsilon)^{-\frac{1}{2}} e^{-\frac{\beta d_a}{\varepsilon}} \\ &\quad + \varepsilon^{-1} \lambda^{-1} e^{-\frac{d_a}{\varepsilon}} E_1. \end{aligned}$$

When $n = 4, 5$,

$$(2.17) \quad \begin{aligned} J_\lambda[W] &= J_\lambda[W_2] + (n-2) \int_{R^n} U_{0,1}^{\frac{2n}{n-2}} + (A_n + o(1))(\lambda\varepsilon)^{-2} (\ln \lambda)^m \\ &\quad - (B_n + o(1))(\lambda\varepsilon)^{-\frac{n-2}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + \varepsilon^{-1} \lambda^{-2} E_2 \end{aligned}$$

with $E_1 = O(1)$, $E_2 = o(1)$ and

$$\partial_\lambda E_1 = O(\lambda^{-1}), \quad \partial_\lambda^2 E_1 = O(\lambda^{-2}), \quad \partial_\lambda E_2 = o(\lambda^{-1}), \quad \partial_\lambda^2 E_2 = o(\lambda^{-2})$$

where $1 - \sigma < \beta < 1 + \sigma$, A_n, B_n are positive numbers and $m = 1$ if $n = 4$, $m = 0$ if $n = 5$.

3. FINITE-DIMENSIONAL REDUCTION: A LINEAR PROBLEM

Following the general strategy as in [16]-[17], we first consider the linearized problem at W , and we solve it in a finite-codimensional subspace. Namely, we equip $H^1(\Omega_\lambda)$ with the scalar product

$$(u, v)_\lambda = \int_{\Omega_\lambda} \nabla u \cdot \nabla v + (\lambda\varepsilon)^{-2} uv.$$

Let $\eta(r)$ be a smooth cut-off function such that $\eta(r) = 1$ for $r \leq \frac{1}{8}d_a\lambda$ and $\eta(r) = 0$ for $r \geq \frac{1}{4}d_a\lambda$ where $r = |y - \xi|$, then $|D\eta| \leq C\lambda^{-1}$ and $|D^2\eta| \leq C\lambda^{-2}$. Define

$$Y_0 = \frac{\partial(\eta W)}{\partial \lambda} \Big|_{\lambda=1}, \quad Y_i = \frac{\partial(\eta W)}{\partial \xi_i}, \quad 1 \leq i \leq n.$$

Setting

$$Z_0 = -\Delta Y_0 + (\lambda\varepsilon)^{-2} Y_0, \quad Z_i = -\Delta Y_i + (\lambda\varepsilon)^{-2} Y_i, \quad 1 \leq i \leq n,$$

then

$$\begin{aligned} |Z_0| &\leq C \left((\lambda\varepsilon)^{-3} (1 + |y - \xi|^{-(n-2)}) + (\lambda\varepsilon)^{-\frac{n+4}{2}} \right), \\ |Z_i| &\leq C \left((1 + |y - \xi|^{-(n+3)}) + (\lambda\varepsilon)^{-\frac{n+4}{2}} \right). \end{aligned}$$

Now we consider the following problem: $h \in L^\infty(\Omega_\lambda)$ being given, find a function ϕ satisfying

$$(3.1) \quad \begin{cases} \Delta\phi - (\lambda\varepsilon)^{-2}\phi + n(n+2)W^{\frac{4}{n-2}}\phi = h + \sum_{i=0}^n c_i Z_i & \text{in } \Omega_\lambda, \\ \frac{\partial\phi}{\partial\nu} = 0 & \text{on } \partial\Omega_\lambda, \\ \langle Z_i, \phi \rangle = 0 & 0 \leq i \leq n \end{cases}$$

for some c_i 's.

In this section, we shall prove

Proposition 3.1. *There exist $\varepsilon_0 > 0$ and a constant $C > 0$, independent of ε and d_a, λ satisfying (1.3), such that for all $\varepsilon \leq \varepsilon_0$ and $h \in L^\infty(\Omega_\lambda)$, problem (3.1) has a unique solution $\phi = L_\lambda(h)$ and*

$$\|L_\lambda(h)\|_* \leq C\varepsilon^{-\alpha}\|h\|_{**}, \quad |c_i| \leq C\varepsilon^{-\alpha}\|h\|_{**}$$

where α is defined as Corollary 2.1. Moreover, the map $L_\lambda(h)$ is C^2 with respect to λ and the L_*^∞ -norm, and

$$(3.2) \quad \|\partial_\lambda L_\lambda(h)\|_* \leq C\varepsilon^{-\alpha}\lambda^{-1}\|h\|_{**}, \quad \|\partial_\lambda^2 L_\lambda(h)\|_* \leq C\varepsilon^{-\alpha}\lambda^{-2}\|h\|_{**}.$$

First we state two lemmas, whose proof is similar to Appendix A.3 of [17].

Lemma 3.1. *The Green function $G(x, y)$ of*

$$\begin{cases} \Delta G(x, y) - (\lambda\varepsilon)^{-2}G(x, y) + \frac{\delta_y}{\partial\nu} = 0 & \text{in } \Omega_\lambda, \\ \frac{\partial G}{\partial\nu} = 0 & \text{on } \partial\Omega_\lambda \end{cases}$$

has the following decay property

$$|G(x, y)| \leq C|x - y|^{-(n-2)}.$$

Lemma 3.2. *Let u satisfy*

$$\begin{cases} \Delta u - (\lambda\varepsilon)^{-2}u = f & \text{in } \Omega_\lambda, \\ \frac{\partial u}{\partial\nu} = 0 & \text{on } \partial\Omega_\lambda, \end{cases}$$

then

$$|u(y)| \leq C \int_{\Omega_\lambda} \frac{|f(x)|}{|x - y|^{n-2}} dx.$$

Moreover,

$$\|u\|_* \leq C\|f\|_{**}.$$

Proof of Proposition 3.1: We argue by contradiction. Suppose there exist sequences of $\varepsilon_j, \lambda_j, \phi_{\varepsilon_j}, h_{\varepsilon_j}$ such that $\|\phi_{\varepsilon_j}\|_* = 1, \|h_{\varepsilon_j}\|_{**} = o(\varepsilon^\alpha)$. For simplicity, we omit the index j .

Multiplying the first equation in (3.1) by Y_j and integrating on Ω_λ , then for $j = 1, \dots, n$.

$$(3.3) \quad \sum_i c_i \langle Z_i, Y_j \rangle = \langle \Delta Y_j - (\lambda\varepsilon)^{-2}Y_j + n(n-2)W^{\frac{4}{n-2}}Y_j, \phi_\varepsilon \rangle - \langle h_\varepsilon, Y_j \rangle.$$

On the one hand,

$$(3.4) \quad \begin{cases} \langle Z_0, Y_0 \rangle = \|Y_0\|_\varepsilon^2 = \gamma_0 + o(1), \\ \langle Z_i, Y_i \rangle = \|Y_i\|_\varepsilon^2 = \gamma_i + o(1), & 1 \leq i \leq n, \\ \langle Z_i, Y_j \rangle = o(1), & i \neq j. \end{cases}$$

where $\gamma_i, 0 \leq i \leq n$ are positive numbers.

On the other hand, compute directly,

$$(3.5) \quad \langle \Delta Y_j - (\lambda\varepsilon)^{-2} Y_j + n(n-2)W^{\frac{4}{n-2}} Y_j, \phi_\varepsilon \rangle = o(\varepsilon^\alpha \|\phi_\varepsilon\|) = o(\varepsilon^\alpha),$$

$$(3.6) \quad \begin{aligned} |\langle h_\varepsilon, Y_j \rangle| &\leq C \|h_\varepsilon\|_{**} \int_{\Omega_\lambda} (1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}} \left((1 + |y - \xi|)^{-\frac{n-2}{2}} \right. \\ &\quad \left. + (\lambda\varepsilon)^{-\frac{n-2}{2}} \right) = O(\|h_\varepsilon\|_{**}) = o(\varepsilon^\alpha). \end{aligned}$$

Hence using (3.3) – (3.6), we get

$$(3.7) \quad c_i = o(\varepsilon^\alpha) \quad \text{as } \varepsilon \rightarrow 0.$$

Since $\|\phi_\varepsilon\|_* = 1$, elliptic theory shows that along some subsequence the functions $\phi_\varepsilon(y) = \phi_\varepsilon(y - \xi)$ converge uniformly in any compact subset of R^n to a nontrivial solution of

$$-\Delta\phi = n(n-2)U_{0,1}^{\frac{4}{n-2}}\phi.$$

Since $|\phi| \leq C(1 + |y|)^{-\frac{n-2+\sigma}{2}}$, a bootstrap argument leads to $|\phi| \leq C(1 + |y|)^{2-n}$. As a consequence of [15], ϕ can be written as

$$(3.8) \quad \phi = \alpha_0 \left(\frac{n-2}{2} U_{0,1} + y \cdot \nabla U_{0,1} \right) + \sum_{i=1}^n \alpha_i \frac{\partial U_{0,1}}{\partial y_i}.$$

According to Lebsgue's Dominate Convergence Theorem, $\langle Z_i, \phi_\varepsilon \rangle = 0$ yields

$$\begin{cases} \int_{R^n} -\Delta \left(\frac{n-2}{2} U_{0,1} + y \cdot \nabla U_{0,1} \right) \phi = 0, \\ \int_{R^n} -\Delta \frac{\partial U_{0,1}}{\partial y_i} \phi = 0, & 1 \leq i \leq n, \\ \int_{R^n} \nabla \frac{\partial U_{0,1}}{\partial y_i} \cdot \nabla \frac{\partial U_{0,1}}{\partial y_j} \phi = 0, & i \neq j. \end{cases}$$

Using (3.4), (3.7) and (3.8) we know α_i 's solve a homogeneous quasidiagonal linear system, which yields $\alpha_i = 0, 0 \leq i \leq n$. So $\phi_\varepsilon(y - \xi) \rightarrow 0$ in $C_{loc}^1(\Omega_\lambda)$.

If $|y - \xi| \leq \frac{1}{2}d_a\lambda$, using Lemma 3.2 we can obtain

$$\begin{aligned} \|\phi_\varepsilon\|_* &\leq C \|W^{\frac{4}{n-2}} \phi_\varepsilon\|_{**} + C \|h_\varepsilon\|_{**} + C \left\| \sum_i c_i Z_i \right\|_{**}, \\ (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} |W^{\frac{4}{n-2}} \phi_\varepsilon| &\leq C(1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} (|W_1|^{\frac{4}{n-2}} + |W_2|^{\frac{4}{n-2}}) |\phi_\varepsilon| \\ &\leq C(1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} \frac{|\phi_\varepsilon|}{(1 + |y - \xi|)^4} \\ &\quad + C(1 + |y - \xi|)^2 (\lambda\varepsilon)^{-2} e^{-\frac{(1-\sigma)}{2\varepsilon}d_a} \|\phi_\varepsilon\|_*. \end{aligned}$$

Since the first term on the right hand is dominated by $(1 + |y - \xi|)^{-2} \|\phi_\varepsilon\|_*$ if $|y - \xi| \geq \sigma d_a \lambda$ and goes uniformly to zero in any ball $B_R(\xi)$ which, through the choice of R , can be made as small as desired.

If $|y - \xi| \geq \frac{1}{2}d_a\lambda$, let ψ_ε be such that

$$\begin{cases} \Delta \psi_\varepsilon - \varepsilon^{-2} \psi_\varepsilon = 0 & \text{in } R^n \setminus \bar{B}_{a, \frac{1}{4}d_a}, \\ \psi_\varepsilon = 1 & \text{on } \partial B_{a, \frac{1}{4}d_a}. \end{cases}$$

By the following transformation $\psi_\varepsilon = e^{-\frac{h_\varepsilon}{\varepsilon}}$, we see that h_ε satisfies

$$\begin{cases} \varepsilon \Delta h_\varepsilon - |\nabla h_\varepsilon|^2 + 1 = 0 & \text{in } R^n \setminus \bar{B}_{a, \frac{1}{4}d_a}, \\ h_\varepsilon = 0 & \text{on } \partial B_{a, \frac{1}{4}d_a}. \end{cases}$$

The solutions to the limit problem $|\nabla h|^2 = 1$ are $C_1 + C_2(-\frac{1}{4}d_a + r)$. By the method of viscosity solutions, we conclude that $h_\varepsilon \rightarrow r - \frac{1}{4}d_a$ as $\varepsilon \rightarrow 0$.

Consider the function $\tilde{\phi}_\varepsilon = \phi_\varepsilon - d\psi_\varepsilon(\frac{y-\xi}{\lambda})$ with $d = \phi_\varepsilon(\frac{1}{4}d_a\lambda) \sim \lambda^{-\frac{n-2+\sigma}{2}}$. Then in the x coordinate we have

$$\varepsilon^2 \Delta \tilde{\phi}_\varepsilon - \tilde{\phi}_\varepsilon + n(n+2)W_\varepsilon^{\frac{4}{n-2}} \tilde{\phi}_\varepsilon = g$$

where $g = (\lambda\varepsilon)^2 h(\lambda x) - n(n+2) \left((\varepsilon^{\frac{n-2}{2}} V_{a,\lambda} + W_\varepsilon)^{\frac{4}{n-2}} - W_\varepsilon^{\frac{4}{n-2}} \right) \tilde{\phi}_\varepsilon - n(n+2) d W_\varepsilon^{\frac{4}{n-2}} \psi_\varepsilon$. Now we estimate term by term.

$$\begin{aligned} (\lambda\varepsilon)^2 |h(\lambda x)| &\leq (\lambda\varepsilon)^2 (1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}} \|h\|_{**} = o(\varepsilon^\alpha) (1 + |y - \xi|)^{-\frac{n-2+\sigma}{2}}, \\ n(n+2) |(\varepsilon^{\frac{n-2}{2}} V_{a,\lambda} + W_\varepsilon)^{\frac{4}{n-2}} - W_\varepsilon^{\frac{4}{n-2}}| |\tilde{\phi}_\varepsilon| &\leq C(\varepsilon^2 |V_{a,\lambda}|^{\frac{4}{n-2}} + \varepsilon^{\frac{6-n}{2}} |V_{a,\lambda}|^{\frac{6-n}{n-2}} W_\varepsilon) (|\phi_\varepsilon + d\psi_\varepsilon|) \\ &\leq C(\varepsilon^2 \lambda^{-\frac{4}{n-2}} + \varepsilon^{\frac{6-n}{2}} \lambda^{-\frac{6-n}{2}}) \\ &\quad \left((1 + |y - \xi|)^{-\frac{n-2+\sigma}{2}} \|\phi_\varepsilon\|_* + \lambda^{-\frac{n-2+\sigma}{2}} \right) \\ &= o(\varepsilon^\alpha) \lambda^{-\frac{n-2+\sigma}{2}}, \\ n(n+2) d |W_\varepsilon^{\frac{4}{n-2}} \psi_\varepsilon| &\leq C \lambda^{-\frac{n-2+\sigma}{2}} \psi_\varepsilon |W_\varepsilon^{\frac{4}{n-2}}| \leq C e^{-\frac{\sigma d_a}{\varepsilon}} \lambda^{-\frac{n-2+\sigma}{2}} = o(\varepsilon^\alpha) \lambda^{-\frac{n-2+\sigma}{2}}. \end{aligned}$$

Using Corollary 2.1 we have

$$\|\tilde{\phi}_\varepsilon\|_{L^\infty(\Omega_\lambda \setminus \bar{B}_{\xi, \frac{1}{2}\lambda d_a})} \leq o(1) (1 + |y - \xi|)^{-\frac{n-2+\sigma}{2}}.$$

Thus

$$\sup_{y \in \Omega_\lambda \setminus \bar{B}_{\xi, \frac{1}{2}\lambda d_a}} (1 + |y - \xi|)^{\frac{n-2+\sigma}{2}} |\phi| \leq C \lambda^{-\frac{n-2+\sigma}{2}} \sup_{y \in \Omega_\lambda \setminus \bar{B}_{\xi, \frac{1}{2}\lambda d_a}} (|\tilde{\phi}_\varepsilon| + d\psi_\varepsilon) = o(1),$$

i.e. $\|\phi_\varepsilon\|_* = o(1)$, contradiction.

Now we set

$$H = \{\phi \in H^1(\Omega_\lambda), \langle Z_i, \phi \rangle = 0, \quad 0 \leq i \leq n\}$$

equipped with the scalar product $(\cdot, \cdot)_\lambda$. Problem (3.1) is equivalent to finding $\phi \in H$ such that

$$(\phi, \theta)_\lambda = \langle n(n+2)W_\varepsilon^{\frac{4}{n-2}} \phi + h, \theta \rangle \quad \forall \theta \in H$$

that is

$$\phi = T_\lambda(\phi) + \tilde{h}$$

\tilde{h} depending linearly on h , and T_λ being a compact operator in H . Fredholm's alternative ensures the existence of a unique solution, provided that the kernel of $Id - T_\lambda$ is reduced to 0. We notice that $\phi \in Ker(Id - T_\lambda)$ solves (3.1) with $h = 0$. Thus by the first part estimate we know that $\|\phi\|_* = o(1)$ as ε goes to zero. As $Ker(Id - T_\lambda)$ is a vector space, $Ker(Id - T_\lambda) = \{0\}$. This completes the proof of the first part of Proposition 3.1.

The smoothness of L_λ with respect to λ is a consequence of the smoothness of T_λ and \tilde{h} . Inequalities (3.2) are obtained differentiating (3.1), writing the derivatives of ϕ with respect to λ as a linear combination of the Z'_i and an orthogonal part, and estimating each term using the first part of the Proposition 3.1- see [11] for detailed computations. \square

4. FINITE-DIMENSIONAL REDUCTION: A NONLINEAR PROBLEM

In this section, we turn our attention to the nonlinear problem which we solve in the finite-codimensional subspace orthogonal to the Z_i 's with $n = 3, 4, 5$. Let $S_\lambda[u]$ be as defined at (1.6). Then (1.5) is equivalent to

$$(4.1) \quad S_\lambda[u] = 0 \quad \text{in } \Omega_\lambda, \quad u_+ \neq 0, \quad \frac{\partial u}{\partial \nu} = 0 \quad \text{on } \partial\Omega_\lambda.$$

Indeed, if u satisfies (4.1) maximum principle ensures that $u > 0$ in Ω_λ and (1.5) is satisfied. Observe that

$$S_\lambda[W + \phi] = \Delta(W + \phi) - (\lambda\varepsilon)^{-2}(W + \phi) + n(n-2)(W + \phi)_+^{\frac{n+2}{n-2}}$$

may be written as

$$S_\lambda[W + \phi] = \Delta\phi - (\lambda\varepsilon)^{-2}\phi + n(n+2)W^{\frac{4}{n-2}}\phi + R^\lambda + n(n-2)N_\lambda(\phi)$$

with

$$(4.2) \quad N_\lambda(\phi) = (W + \phi)_+^{\frac{n+2}{n-2}} - W^{\frac{n+2}{n-2}} - \frac{n+2}{n-2}W^{\frac{4}{n-2}}\phi$$

and

$$R^\lambda = S_\lambda[W] = \Delta W - (\lambda\varepsilon)^{-2}W + n(n-2)W^{\frac{n+2}{n-2}}.$$

We now consider the following nonlinear problem: find ϕ such that for some numbers c_i 's,

$$(4.3) \quad \begin{cases} \Delta\phi - (\lambda\varepsilon)^{-2}\phi + n(n+2)W^{\frac{4}{n-2}}\phi = -R^\lambda - n(n-2)N_\lambda(\phi) + \sum_{i=0}^n c_i Z_i & \text{in } \Omega_\lambda, \\ \frac{\partial\phi}{\partial\nu} = 0 & \text{on } \partial\Omega_\lambda, \\ \langle Z_i, \phi \rangle = 0 & 0 \leq i \leq n. \end{cases}$$

Lemma 4.1. *There exists a constant C independent of $\varepsilon, \lambda, \xi$ such that if $\|\phi\|_* \leq \lambda^{-\frac{\beta_n + \sigma}{2}}$, then*

$$(4.4) \quad \|N_\lambda(\phi)\|_{**} \leq C\lambda^{-\frac{\beta_n}{2}}\|\phi\|_*$$

and if $\|\phi_j\|_* \leq \lambda^{-\frac{\beta_n + \sigma}{2}}$, $j = 1, 2$, then

$$(4.5) \quad \|N_\lambda(\phi_1) - N_\lambda(\phi_2)\|_{**} \leq C\lambda^{-\frac{\beta_n}{2}}\|\phi_1 - \phi_2\|_*.$$

Proof.

$$(4.6) \quad \begin{aligned} |N_\lambda(\phi)| &\leq C(|W|^{\frac{6-n}{n-2}}|\phi|^2 + |\phi|^{\frac{n+2}{n-2}}) \\ &\leq C(|W_1|^{\frac{6-n}{n-2}}|\phi|^2 + |W_2|^{\frac{6-n}{n-2}}|\phi|^2 + |\phi|^{\frac{n+2}{n-2}}) \\ &:= I_1 + I_2 + I_3 \end{aligned}$$

where I_1, I_2, I_3 are defined as the last equality. Then

$$(4.7) \quad \begin{aligned} (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} I_1 &\leq C\|\phi\|_*^2 (1 + |y - \xi|)^{\frac{6-n-\sigma}{2}} (1 + |y - \xi|)^{-6+n} \\ &\leq C\|\phi\|_*^2, \\ (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} I_2 &\leq C\|\phi\|_*^2 (1 + |y - \xi|)^{\frac{6-n-\sigma}{2}} (\lambda\varepsilon)^{\frac{-6+n}{2}} \\ &\leq C\|\phi\|_*^2, \\ (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} I_3 &\leq C\|\phi\|_*^{\frac{n+2}{n-2}} (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} (1 + |y - \xi|)^{-\frac{n-2+\sigma}{2} \cdot \frac{n+2}{n-2}} \\ &\leq C\|\phi\|_*^{\frac{n+2}{n-2}}. \end{aligned}$$

Using (4.6), (4.7) we get (4.4).

Using (4.2) we get

$$N_\lambda(\phi_1) - N_\lambda(\phi_2) = \partial_\eta N_\lambda(\eta)(\phi_1 - \phi_2)$$

where $\eta = t\phi_1 + (1-t)\phi_2$, $0 \leq t \leq 1$, and

$$|\partial_\eta N_\lambda(\eta)| = \left| \frac{n+2}{n-2}(W+\eta)_+^{\frac{4}{n-2}} - \frac{n+2}{n-2}W^{\frac{4}{n-2}} \right| = O(|W^{\frac{6-n}{n-2}}\eta| + |\eta|^{\frac{4}{n-2}}).$$

Hence

$$(4.8) \quad \begin{aligned} (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} |N_\lambda(\phi_1) - N_\lambda(\phi_2)| &\leq C \|\phi_1 - \phi_2\|_* (1 + |y - \xi|)^2 (W_1^{\frac{6-n}{n-2}} |\eta| \\ &+ W_2^{\frac{6-n}{n-2}} |\eta| + |\eta|^{\frac{4}{n-2}}) := J_1 + J_2 + J_3 \end{aligned}$$

where J_1, J_2, J_3 are defined as the last equality. Then

$$(4.9) \quad \begin{aligned} J_1 &\leq C \|\eta\|_* (1 + |y - \xi|)^{\frac{6-n-\sigma}{2}} (1 + |y - \xi|)^{-6+n} \|\phi_1 - \phi_2\|_* \\ &\leq C \lambda^{-\frac{\beta_n}{2}} \|\phi_1 - \phi_2\|_*, \\ J_2 &\leq C \|\eta\|_* (1 + |y - \xi|)^{\frac{6-n-\sigma}{2}} (\lambda \varepsilon)^{-\frac{6-n}{2}} \|\phi_1 - \phi_2\|_* \\ &\leq C \lambda^{-\frac{\beta_n}{2}} \|\phi_1 - \phi_2\|_*, \\ J_3 &\leq C (1 + |y - \xi|)^2 (|\phi_1|^{\frac{4}{n-2}} + |\phi_2|^{\frac{4}{n-2}}) \|\phi_1 - \phi_2\|_* \\ &\leq C (\|\phi_1\|_*^{\frac{4}{n-2}} + \|\phi_2\|_*^{\frac{4}{n-2}}) \|\phi_1 - \phi_2\|_* \\ &\leq C \lambda^{-\frac{\beta_n}{2}} \|\phi_1 - \phi_2\|_*. \end{aligned}$$

Using (4.8), (4.9) we get (4.5). \square

By Proposition 3.1, Lemma 2.3, Lemma 4.1 and contraction mapping, we drive the following main result:

Proposition 4.1. *There exists a constant C , independent of $\varepsilon, \lambda, \xi$ such that problem (4.3) has a unique solution $\phi_{\lambda, \xi} = \phi(\varepsilon, \lambda, \xi)$ with*

$$\|\phi_{\lambda, \xi}\|_* \leq C \lambda^{-\frac{\beta_n + \frac{\sigma}{2}}{2}}.$$

Moreover, $\lambda \mapsto \phi_{\lambda, \xi}$ is C^2 with respect to the L_*^∞ -norm and

$$(4.10) \quad \|\partial_\lambda \phi_{\lambda, \xi}\|_* \leq C \lambda^{-\frac{\beta_n + \frac{\sigma}{2} + 2}{2}}, \quad \|\partial_\lambda^2 \phi_{\lambda, \xi}\|_* \leq C \lambda^{-\frac{\beta_n + \frac{\sigma}{2} + 4}{2}}.$$

Proof. We consider the map \mathcal{A}_λ from

$$\mathcal{F} = \{\phi \in H^1(\Omega_\lambda) \mid \|\phi\|_* \leq \bar{C} \lambda^{-\frac{\beta_n + \frac{\sigma}{2}}{2}}\}$$

to $H^1(\Omega_\lambda)$, defined as

$$\mathcal{A}_\lambda(\phi) = -L_\lambda(n(n-2)N_\lambda(\phi) + R^\lambda)$$

where \bar{C} is a large number, to be determined later and L_λ is given by Proposition 3.1. We note that finding a solution ϕ to problem(4.3) is equivalent to finding a fixed point of \mathcal{A}_λ .

$\forall \phi \in \mathcal{F}$, Proposition 3.1 gives us

$$\begin{aligned} \|\mathcal{A}_\lambda(\phi)\|_* &\leq \|L_\lambda(N_\lambda(\phi))\|_* + \|L_\lambda(R^\lambda)\|_* \leq C \varepsilon^{-\alpha} (\|N_\lambda(\phi)\|_{**} + \|R^\lambda\|_{**}) \\ &\leq C \varepsilon^{-\alpha} \lambda^{-\frac{\beta_n}{2}} \|\phi\|_* + C \varepsilon^{-\alpha} \lambda^{-\frac{\beta_n + \sigma}{2}} \leq C \lambda^{-\frac{\beta_n}{4}} \|\phi\|_* + C \lambda^{-\frac{\beta_n + \frac{\sigma}{2}}{2}}. \end{aligned}$$

Let $\bar{C} = 2C$ and ε small enough, then \mathcal{A}_λ sends \mathcal{F} into itself.

On the other hand, \mathcal{A}_λ is a contraction map. Indeed, for ϕ_1 and ϕ_2 in \mathcal{F} , we have

$$\begin{aligned} \|\mathcal{A}_\lambda(\phi_1) - \mathcal{A}_\lambda(\phi_2)\|_* &\leq C\varepsilon^{-\alpha} \|N_\lambda(\phi_1) - N_\lambda(\phi_2)\|_{**} \\ &\leq C\varepsilon^{-\alpha} \lambda^{-\frac{\beta n}{2}} \|\phi_1 - \phi_2\|_* \leq \frac{1}{2} \|\phi_1 - \phi_2\|_*, \end{aligned}$$

which implies that \mathcal{A}_λ has a unique fixed point in \mathcal{F} .

In order to prove that $\lambda \mapsto \phi_{\lambda, \xi}$ is C^2 , we remark that if we set for $\eta \in \mathcal{F}$,

$$(4.11) \quad B(\lambda, \xi, \eta) = \eta + L_\lambda(n(n-2)N_\lambda(\phi) + R^\lambda),$$

then $\phi_{\lambda, \xi}$ is defined as $B(\lambda, \xi, \phi_{\lambda, \xi}) = 0$.

We have

$$\partial_\eta B(\lambda, \xi, \eta)[\theta] = \theta + n(n-2)L_\lambda(\theta \partial_\eta N_\lambda(\eta)).$$

Using Proposition 3.1, we write

$$\begin{aligned} \|L_\lambda(\theta \partial_\eta N_\lambda(\eta))\|_* &\leq C\varepsilon^{-\alpha} \|\theta \partial_\eta N_\lambda(\eta)\|_{**} \leq C\varepsilon^{-\alpha} \|\theta\|_* \|(1 + |y - \xi|)^{-\frac{n-2+\sigma}{2}} \partial_\eta N_\lambda(\eta)\|_{**} \\ &\leq C\lambda^{-\frac{\beta n}{4}} \|\theta\|_*. \end{aligned}$$

Consequently, $\partial_\eta B(\lambda, \xi, \eta)$ is invertible with uniformly bounded inverse. Then the fact that $\lambda \mapsto \phi_{\lambda, \xi}$ is C^2 follows from the fact that $(\lambda, \eta) \mapsto L_\lambda(N_\lambda(\eta))$ is C^2 and implicit function theorem.

Finally, let us show how estimate (4.10) may be obtained. Differentiating (4.11) with respect to λ , we find

$$\partial_\lambda \phi_{\lambda, \xi} = -(\partial_\eta B(\lambda, \xi, \phi_{\lambda, \xi}))^{-1} \left((\partial_\lambda L_\lambda)(N_\lambda(\phi_{\lambda, \xi}) + R^\lambda) + L_\lambda((\partial_\lambda N_\lambda)(\phi_{\lambda, \xi})) + L_\lambda(\partial_\lambda R^\lambda) \right).$$

Using Proposition 3.1, we have

$$\begin{aligned} \|(\partial_\lambda L_\lambda)(N_\lambda(\phi_{\lambda, \xi}) + R^\lambda)\|_* &\leq C\varepsilon^{-\alpha} \lambda^{-1} (\|N_\lambda(\phi_{\lambda, \xi})\|_{**} + \|R^\lambda\|_{**}) \leq C\lambda^{-\frac{\beta n + \frac{\sigma}{2} + 2}{2}}, \\ |(\partial_\lambda N_\lambda)(\phi_{\lambda, \xi})| &\leq C|(W + \phi_{\lambda, \xi})_+^{\frac{4}{n-2}} - W^{\frac{4}{n-2}} - \frac{4}{n-2} W^{\frac{6-n}{n-2}} \phi_{\lambda, \xi}| |\partial_\lambda W| \\ &\leq C W^{\frac{6-n}{n-2}} |\phi_{\lambda, \xi}| |\partial_\lambda W| + |\phi_{\lambda, \xi}|^{\frac{4}{n-2}} |\partial_\lambda W| := H_1 + H_2 \end{aligned}$$

where H_1, H_2 are defined as the last equality.

$$\begin{aligned} \varepsilon^{-\alpha} (1 + |y - \xi|)^{\frac{n+2+\sigma}{2}} H_1 &\leq C \|\phi_{\lambda, \xi}\|_* \varepsilon^{-\alpha} (1 + |y - \xi|)^2 ((1 + |y - \xi|)^{-(6-n)} \\ &\quad + (\lambda\varepsilon)^{-\frac{6-n}{2}}) (\lambda\varepsilon)^{-\frac{n+2}{2}} \leq C\lambda^{-\frac{\beta n + \frac{\sigma}{2} + 2}{2}}. \end{aligned}$$

Just as the above, we get

$$\varepsilon^{-\alpha} \|H_2\|_{**} \leq C\lambda^{-\frac{\beta n + \frac{\sigma}{2} + 2}{2}}, \quad \|L_\lambda(\partial_\lambda R^\lambda)\|_* \leq C\varepsilon^{-\alpha} \|\partial_\lambda R^\lambda\|_{**} \leq C\lambda^{-\frac{\beta n + \frac{\sigma}{2} + 2}{2}}$$

which implies the first part of (4.10).

The second derivatives of $\phi_{\lambda, \xi}$ with respect to λ may be estimated in the same way. This concludes the proof of Proposition 4.1. \square

5. PROOF OF THEOREM 1.1

Let us define a reduced energy functional as

$$(5.1) \quad I_\varepsilon(\lambda, a) \equiv J_\lambda[W + \phi_{\lambda, \xi}].$$

Then we state:

Proposition 5.1. *The function $u = W + \phi_{\lambda, \xi}$ is a solution to problem (1.2) if and only if (λ, a) is a critical point of $I_\varepsilon(\lambda, a)$.*

The proof is similar to those of Proposition 5.1 in [16], [17]. We omit it.

In view of Proposition 5.1, to prove Theorem 1.1, we have to find a critical point of $I_\varepsilon(\lambda, a)$. First we establish a C^2 expansion of $I_\varepsilon(\lambda, a)$.

Proposition 5.2. *For ε sufficiently small, we have*

$$(5.2) \quad I_\varepsilon(\lambda, a) = \begin{cases} J_\lambda[W] + \varepsilon^{-1} \lambda^{-\frac{3}{2}} D_1 & n = 3, \\ J_\lambda[W] + \varepsilon^{-1} \lambda^{-2} D_2 & n = 4, 5. \end{cases}$$

with $D_1 = O(1)$, $D_2 = o(1)$ and

$$\partial_\lambda D_1 = O(\lambda^{-1}), \quad \partial_\lambda^2 D_1 = O(\lambda^{-2}), \quad \partial_\lambda D_2 = o(\lambda^{-1}), \quad \partial_\lambda^2 D_2 = o(\lambda^{-2}).$$

Proof. Actually, in view of (5.1) and the fact that $J'_\lambda[W + \phi_{\lambda, \xi}][\phi_{\lambda, \xi}] = 0$ yields

$$\begin{aligned} I_\varepsilon(\lambda, a) - J_\lambda[W] &= J_\lambda[W + \phi_{\lambda, \xi}] - J_\lambda[W] = - \int_0^1 J'_\lambda[W + t\phi_{\lambda, \xi}][\phi_{\lambda, \xi}, \phi_{\lambda, \xi}] t dt \\ &= - \int_0^1 \int_{\Omega_\lambda} (|\nabla \phi_{\lambda, \xi}|^2 + (\lambda\varepsilon)^{-2} \phi_{\lambda, \xi}^2 - n(n+2)(W + t\phi_{\lambda, \xi})_+^{\frac{4}{n-2}} \phi_{\lambda, \xi}^2) t dt \\ &= - \int_0^1 \int_{\Omega_\lambda} \left(n(n+2)(W^{\frac{4}{n-2}} - (W + t\phi_{\lambda, \xi})_+^{\frac{4}{n-2}}) \phi_{\lambda, \xi}^2 + R^\lambda \phi_{\lambda, \xi} \right. \\ &\quad \left. + n(n-2)N_\lambda(\phi_{\lambda, \xi})\phi_{\lambda, \xi} \right) t dt. \end{aligned}$$

If $n = 4, 5$,

$$(5.3) \quad \begin{aligned} \int_{\Omega_\lambda} |R^\lambda \phi_{\lambda, \xi}| &\leq C \|R^\lambda\|_{**} \|\phi_{\lambda, \xi}\|_* \int_{\Omega_\lambda} (1 + |y - \xi|)^{-(n+\sigma)} \\ &\leq C \lambda^{-\frac{2+\sigma}{2}} \lambda^{-\frac{2+\sigma}{2}} = o(\varepsilon^{-1} \lambda^{-2}), \end{aligned}$$

$$(5.4) \quad \begin{aligned} \int_{\Omega_\lambda} |N_\lambda(\phi_{\lambda, \xi})\phi_{\lambda, \xi}| &\leq C \int_{\Omega_\lambda} (|W|^{\frac{6-n}{n-2}} |\phi_{\lambda, \xi}|^3 + |\phi_{\lambda, \xi}|^{\frac{2n}{n-2}}) \\ &\leq C \int_{\Omega_\lambda} (|W_1|^{\frac{6-n}{n-2}} + (\lambda\varepsilon)^{-\frac{6-n}{2}}) (1 + |y - \xi|)^{-\frac{3(n-2+\sigma)}{2}} \|\phi_{\lambda, \xi}\|_*^3 \\ &\quad + C \|\phi_{\lambda, \xi}\|_*^{\frac{2n}{n-2}} \int_{\Omega_\lambda} (1 + |y - \xi|)^{-n(1+\frac{\sigma}{n-2})} \\ &\leq C \lambda^{-\frac{2+\sigma}{2} \min\{3, \frac{2n}{n-2}\}} = o(\varepsilon^{-1} \lambda^{-2}), \end{aligned}$$

$$(5.5) \quad \begin{aligned} n(n+2) \int_{\Omega_\lambda} |W^{\frac{4}{n-2}} - (W + t\phi_{\lambda, \xi})_+^{\frac{4}{n-2}}| \phi^2 &\leq C \int_{\Omega_\lambda} (|W|^{\frac{6-n}{n-2}} |\phi|^3 + |\phi_{\lambda, \xi}|^{\frac{2n}{n-2}}) \\ &= o(\varepsilon^{-1} \lambda^{-2}). \end{aligned}$$

Using (5.3) – (5.5) we get the second part of (5.2).

If $n = 3$, since $|R^\lambda| \leq C((\lambda\varepsilon)^{-1}(1 + |y - \xi|)^{-4} + (\lambda\varepsilon)^{-4}(1 + |y - \xi|)^{-1})$, then

$$\begin{aligned} \int_{\Omega_\lambda} |R^\lambda \phi_{\lambda, \xi}| &\leq C \|\phi_{\lambda, \xi}\|_* \int_{\Omega_\lambda} \left((\lambda\varepsilon)^{-1}(1 + |y - \xi|)^{-4 - \frac{1+\sigma}{2}} + (\lambda\varepsilon)^{-4}(1 + |y - \xi|)^{-1 - \frac{1+\sigma}{2}} \right) \\ &\leq C \lambda^{-\frac{1+\sigma}{2}} (\lambda\varepsilon)^{-1} = o(\varepsilon^{-1} \lambda^{-\frac{3}{2}}). \end{aligned}$$

The other two terms is the same as (5.4) and (5.5). Hence we get (5.2).

Differentiating (5.3) with respect to λ , by the similar computation the estimates of $D_i, i = 1, 2$ hold for the first and second derivatives with respect to λ . This concludes the proof of Proposition 5.2. \square

since

$$J_\lambda[W_2] = \frac{n(n-2)}{2} \int_\Omega W_\varepsilon^{\frac{2n}{n-2}} - \frac{(n-2)^2}{2} \int_\Omega W_\varepsilon^{\frac{2n}{n-2}} = \varepsilon^{-n}(n-2) \int_\Omega W_\varepsilon^{\frac{2n}{n-2}}$$

which has no relation with λ or a . According to Lemma 2.3 and Proposition 5.2 we have the following corollary:

Corollary 5.1. *When $n = 3$, noticing $\int_{R^3} U_{0,1}^5 = \frac{4\pi}{3}$,*

$$I_\varepsilon(\lambda, a) = J_\lambda[W_2] + \int_{R^3} U_{0,1}^6 + \frac{2\pi}{\lambda\varepsilon} - (B_3 + o(1))(\lambda\varepsilon)^{-\frac{1}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + O(\varepsilon^{-1}\lambda^{-1}e^{-\frac{d_a}{\varepsilon}} + \varepsilon^{-1}\lambda^{-\frac{3}{2}}),$$

$$\partial_\lambda I_\varepsilon = -\frac{2\pi}{\lambda^2\varepsilon} + \frac{(B_3 + o(1))}{2} \lambda^{-\frac{3}{2}} \varepsilon^{-\frac{1}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + O(\varepsilon^{-1}\lambda^{-2}e^{-\frac{d_a}{\varepsilon}} + \varepsilon^{-1}\lambda^{-\frac{5}{2}}),$$

$$\partial_\lambda^2 I_\varepsilon = \frac{1}{\lambda^3\varepsilon} (4\pi - \frac{3(B_3 + o(1))}{4} \lambda^{\frac{1}{2}} \varepsilon^{\frac{1}{2}} e^{-\frac{\beta d_a}{\varepsilon}}) + O(\varepsilon^{-1}\lambda^{-3}e^{-\frac{d_a}{\varepsilon}} + \varepsilon^{-1}\lambda^{-\frac{7}{2}}).$$

When $n = 4, 5$,

$$I_\varepsilon(\lambda, a) = J_\lambda[W_2] + (n-2) \int_{R^n} U_{0,1}^{\frac{2n}{n-2}} + \frac{n-2}{2} (A_n + o(1)) (\lambda\varepsilon)^{-2} (\ln \lambda)^m$$

$$- (B_n + o(1)) (\lambda\varepsilon)^{-\frac{n-2}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + O(\varepsilon^{-1}\lambda^{-2}),$$

$$\begin{aligned} \partial_\lambda I_\varepsilon &= -(n-2)(A_n + o(1)) \lambda^{-3} \varepsilon^{-2} ((\ln \lambda)^m - \frac{m}{2}) \\ &+ \frac{(n-2)(B_n + o(1))}{2} \lambda^{-\frac{n}{2}} \varepsilon^{-\frac{n-2}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + O(\varepsilon^{-1}\lambda^{-3}), \end{aligned}$$

$$\begin{aligned} \partial_\lambda^2 I_\varepsilon &= 3(n-2)(A_n + o(1)) \lambda^{-4} \varepsilon^{-2} ((\ln \lambda)^m - \frac{5m}{6}) \\ &- \frac{n(n-2)(B_n + o(1))}{4} \lambda^{-\frac{n+2}{2}} \varepsilon^{-\frac{n-2}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + O(\varepsilon^{-1}\lambda^{-4}) \end{aligned}$$

where $m = 1$ if $n = 4$ and $m = 0$ if $n = 5$.

Proof of Theorem 1.1: When $n = 3$, let $\lambda_0 = (\frac{4\pi + o(1)}{B_3})^2 \varepsilon^{-1} e^{\frac{2\beta d_a}{\varepsilon}} \in \Lambda$, then

$$\partial_\lambda^2 I_\varepsilon |_{\lambda=\lambda_0} = \frac{\pi + o(1)}{\lambda_0^3 \varepsilon} \neq 0.$$

The implicit functions theorem provides us, for ε small enough, with a C^1 -map $a \in M_\gamma \rightarrow \lambda(a)$, such that

$$\partial_\lambda I_\varepsilon(\lambda(a), a) = 0, \quad \lambda(a) = \left(\frac{4\pi + o(1)}{B_3} \right)^2 \varepsilon^{-1} e^{\frac{2\beta d_a}{\varepsilon}} \in \Lambda.$$

Then by Corollary 5.1

$$I_\varepsilon(\lambda(a), a) = J_\lambda[W_2] + \int_{R^3} U_{0,1}^6 - \frac{B_3^2}{8\pi} e^{-\frac{2\beta d_a}{\varepsilon}} + o(e^{-\frac{2\beta d_a}{\varepsilon}}).$$

Obviously, there exists a maximum point a_ε of $I_\varepsilon(\lambda(a), a)$ and $a_\varepsilon \rightarrow a_0$ as $\varepsilon \rightarrow 0$ where a_0 satisfies $d_{a_0} = \max_{a \in M_\gamma} d_a$, i.e. $(\lambda(a_\varepsilon), a_\varepsilon)$ is a critical point of $I_\varepsilon(\lambda, a)$.

When $n = 4, 5$, using the same discussion as $n = 3$, we find $I_\varepsilon(\lambda, a)$ has a critical point $(\lambda(a_\varepsilon), a_\varepsilon)$ where $\lambda(a_\varepsilon) \sim e^{\frac{2+o(1)}{(6-n)\varepsilon} \beta d_{a_\varepsilon}}$ and $a_\varepsilon \rightarrow a_0$ as $\varepsilon \rightarrow 0$.

Let $u_\varepsilon(x) = (\lambda(a_\varepsilon)\varepsilon)^{\frac{n-2}{2}} \left(W_1(\lambda(a_\varepsilon)x) + W_2(\lambda(a_\varepsilon)x) + \phi_{\lambda(a_\varepsilon), \lambda a_\varepsilon}(\lambda(a_\varepsilon)x) \right)$, then $u_\varepsilon(x)$ has all properties in Theorem 1.1. \square

6. APPENDIX

Proof of Lemma 2.3: Using (1.5), we have

$$(6.1) \quad |S_\lambda[W]| \leq C|W_1|^{\frac{4}{n-2}}W_2 + C|W_2|^{\frac{4}{n-2}}W_1 + C|U_{\xi,1}|^{\frac{4}{n-2}}|W_1 - U_{\xi,1}|.$$

When $n = 3$, using (2.8) and (2.11),

$$|U_{\xi,1}|^4|W_1 - U_{\xi,1}| \leq C(1 + |y - \xi|^2)^{-2}(\lambda\varepsilon)^{-1} \leq C(1 + |y - \xi|)^{-\frac{5+\sigma}{2}}\lambda^{-\frac{1+\sigma}{2}}.$$

If $|y - \xi| \geq \sigma\lambda d_a$, then

$$\begin{aligned} |W_1^4W_2| &\leq C(\lambda^{-2} + \frac{1}{\lambda\varepsilon}e^{-\frac{|y-\xi|}{\lambda\varepsilon}})^4(\lambda\varepsilon)^{-\frac{1}{2}} \leq C(1 + |y - \xi|)^{-\frac{5+\sigma}{2}}\lambda^{-\frac{1+\sigma}{2}}, \\ |W_2^4W_1| &\leq C(\lambda^{-2} + \frac{1}{\lambda\varepsilon}e^{-\frac{|y-\xi|}{\lambda\varepsilon}})(\lambda\varepsilon)^{-2} \leq C(1 + |y - \xi|)^{-\frac{5+\sigma}{2}}\lambda^{-\frac{1+\sigma}{2}}. \end{aligned}$$

If $|y - \xi| \leq \sigma\lambda d_a$, then

$$(6.2) \quad \begin{aligned} |W_1^4W_2| &\leq C(1 + |y - \xi|^2)^{-2}(\lambda\varepsilon)^{-\frac{1}{2}}e^{-\frac{(1-\sigma)^2 d_a}{\varepsilon}} \\ &\leq C(1 + |y - \xi|)^{-\frac{5+\sigma}{2}}\lambda^{-\frac{1+\sigma}{2}}, \\ |W_2^4W_1| &\leq C(1 + |y - \xi|^2)^{-\frac{1}{2}}(\lambda\varepsilon)^{-2}e^{-\frac{4(1-\sigma)^2 d_a}{\varepsilon}} \\ &\leq C(1 + |y - \xi|)^{-\frac{5+\sigma}{2}}\lambda^{-\frac{1+\sigma}{2}}. \end{aligned}$$

Using (6.1), (6.2), the first part of (2.15) holds for $n = 3$.

When $n = 4, 5$,

$$(6.3) \quad \begin{aligned} |U_{\xi,1}|^{\frac{4}{n-2}}|W_1 - U_{\xi,1}| &\leq C(1 + |y - \xi|^2)^{-2}\lambda^{-2}\varepsilon^{-3}(1 + |y - \xi|)^{-n+4} \\ &\leq C(1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}}\lambda^{-\frac{2+\sigma}{2}}. \end{aligned}$$

If $|y - \xi| \geq \sigma\lambda d_a$, then

$$\begin{aligned} |W_1^{\frac{4}{n-2}}W_2| &\leq C(\lambda\varepsilon)^{-\frac{n-2}{2}}(1 + |y - \xi|)^{-2} \leq C(1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}}\lambda^{-\frac{2+\sigma}{2}}, \\ |W_2^{\frac{4}{n-2}}W_1| &\leq C(\lambda\varepsilon)^{-2-n} \leq C(1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}}\lambda^{-\frac{2+\sigma}{2}}. \end{aligned}$$

If $|y - \xi| \leq \sigma\lambda d_a$, then

$$(6.4) \quad \begin{aligned} |W_1^{\frac{4}{n-2}}W_2| &\leq C(1 + |y - \xi|^2)^{-2}(\lambda\varepsilon)^{-\frac{n-2}{2}}e^{-\frac{(1-\sigma)^2 d_a}{\varepsilon}} \\ &\leq C(1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}}\lambda^{-\frac{2+\sigma}{2}}, \\ |W_2^{\frac{4}{n-2}}W_1| &\leq C(1 + |y - \xi|^2)^{-\frac{n-2}{2}}(\lambda\varepsilon)^{-2}e^{-\frac{4(1-\sigma)^2 d_a}{(n-2)\varepsilon}} \\ &\leq C(1 + |y - \xi|)^{-\frac{n+2+\sigma}{2}}\lambda^{-\frac{2+\sigma}{2}} \end{aligned}$$

since $\frac{4}{n-2} \geq \frac{4}{3}$.

Using (6.1), (6.3), (6.4), the first part of (2.15) holds for $n = 4, 5$.

Differentiating (1.6) with respect to λ and by the similar computation, (2.15) holds for $n = 3, 4, 5$.

Now we compute $J_\lambda[W]$. By the definition of $J_\lambda[W]$, we have

$$(6.5) \quad \begin{aligned} J_\lambda[W] &= J_\lambda[W_1 + W_2] = J_\lambda[W_1] + J_\lambda[W_2] + n(n-2) \int_{\Omega_\lambda} W_2^{\frac{n+2}{n-2}} W_1 \\ &\quad - \frac{(n-2)^2}{2} \int_{\Omega_\lambda} \left((W_1 + W_2)^{\frac{2n}{n-2}} - W_1^{\frac{2n}{n-2}} - W_2^{\frac{2n}{n-2}} \right) \\ &:= J_\lambda[W_1] + J_\lambda[W_2] - I_\lambda, \end{aligned}$$

where

$$\begin{aligned} I_\lambda &= \frac{(n-2)^2}{2} \int_{\Omega_\lambda} \left((W_1 + W_2)^{\frac{2n}{n-2}} - W_1^{\frac{2n}{n-2}} - W_2^{\frac{2n}{n-2}} - \frac{2n}{n-2} W_2^{\frac{n+2}{n-2}} W_1 - \frac{2n}{n-2} W_1^{\frac{n+2}{n-2}} W_2 \right) \\ &\quad + n(n-2) \int_{\Omega_\lambda} \frac{2n}{n-2} W_1^{\frac{n+2}{n-2}} W_2 \quad := I_{\lambda,1} + I_{\lambda,2}. \end{aligned}$$

Since W_1 satisfies

$$\begin{cases} \Delta W_1 - (\lambda\varepsilon)^{-2} W_1 + n(n-2) U_{\xi,1}^{\frac{n+2}{n-2}} = 0 & \text{in } \Omega_\lambda, \\ \frac{\partial W_1}{\partial \nu} = 0 & \text{on } \partial\Omega_\lambda, \end{cases}$$

then

$$J_\lambda[W_1] = \frac{n(n-2)}{2} \int_{\Omega_\lambda} U_{\xi,1}^{\frac{n+2}{n-2}} W_1 - \frac{(n-2)^2}{2} \int_{\Omega_\lambda} W_1^{\frac{2n}{n-2}}.$$

First we consider the case $n = 3$.

$$\begin{aligned} J_\lambda[W_1] &= \frac{3}{2} \int_{\Omega_\lambda} U_{\xi,1}^5 W_1 - \frac{1}{2} \int_{\Omega_\lambda} W_1^6 \\ &= \frac{3}{2} \int_{\Omega_\lambda} U_{\xi,1}^5 (U_{\xi,1} + W_1 - U_{\xi,1}) - \frac{1}{2} \int_{\Omega_\lambda} (U_{\xi,1} + W_1 - U_{\xi,1})^6 \\ &= \frac{3}{2} \int_{\Omega_\lambda} U_{\xi,1}^6 + \frac{3}{2} \int_{\Omega_\lambda} U_{\xi,1}^5 (W_1 - U_{\xi,1}) - \frac{1}{2} \int_{\Omega_\lambda} U_{\xi,1}^6 - 3 \int_{\Omega_\lambda} U_{\xi,1}^5 (W_1 - U_{\xi,1}) \\ &\quad + O\left(\int_{\Omega_\lambda} U_{\xi,1}^4 (W_1 - U_{\xi,1})^2 + \int_{\Omega_\lambda} (W_1 - U_{\xi,1})^6 \right) \\ &= \int_{\Omega_\lambda} U_{\xi,1}^6 - \frac{3}{2} \int_{\Omega_\lambda} U_{\xi,1}^5 (W_1 - U_{\xi,1}) + O\left(\int_{\Omega_\lambda} U_{\xi,1}^4 (W_1 - U_{\xi,1})^2 + \int_{\Omega_\lambda} (W_1 - U_{\xi,1})^6 \right). \end{aligned}$$

Compute directly,

$$\begin{aligned} \int_{\Omega_\lambda} U_{\xi,1}^6 &= \int_{R^3} U_{0,1}^6 + O(\lambda^{-3}), \\ -\frac{3}{2} \int_{\Omega_\lambda} U_{\xi,1}^5 (W_1 - U_{\xi,1}) &= \frac{3}{2} (\lambda\varepsilon)^{-1} \int_{R^3} U_{0,1}^5 + O(\varepsilon^{-1} \lambda^{-1} e^{-\frac{d_a}{\varepsilon}}), \\ O\left(\int_{\Omega_\lambda} U_{\xi,1}^4 (W_1 - U_{\xi,1})^2 + \int_{\Omega_\lambda} (W_1 - U_{\xi,1})^6 \right) &= o(\varepsilon^{-1} \lambda^{-1} e^{-\frac{d_a}{\varepsilon}}). \end{aligned}$$

Hence

$$(6.6) \quad J_\lambda[W_1] = \int_{R^3} U_{0,1}^6 + \frac{3}{2} (\lambda\varepsilon)^{-1} \int_{R^3} U_{0,1}^5 + O(\varepsilon^{-1} \lambda^{-1} e^{-\frac{d_a}{\varepsilon}}).$$

By direct computation, we get

$$I_{\lambda,1} = \frac{15}{2} \varepsilon^{-2} \int_{\Omega_\lambda} W_\varepsilon^4 V_{a,\lambda}^2 + O(\varepsilon^{-\frac{3}{2}} \int_{\Omega_\lambda} W_\varepsilon^3 V_{a,\lambda}^3 + \varepsilon^{-1} \int_{\Omega_\lambda} W_\varepsilon^2 V_{a,\lambda}^4) = O(\varepsilon^{-1} \lambda^{-1} e^{-\frac{d_a}{\varepsilon}}).$$

On the other hand,

$$(6.7) \quad \begin{aligned} I_{\lambda,2} &= 3 \int_{\Omega_\lambda} W_2 W_1^5 = 3\varepsilon^{-\frac{1}{2}} \int_{\Omega_\lambda} W_\varepsilon(x) V_{a,\lambda}^5 dx \\ &= 3\varepsilon^{-\frac{1}{2}} \int_{|x-a| \leq \sigma d_a} W_\varepsilon(x) V_{a,\lambda}^5 dx + 3\varepsilon^{-\frac{1}{2}} \int_{|x-a| > \sigma d_a} W_\varepsilon(x) V_{a,\lambda}^5 dx \\ &= (B_3 + o(1)) (\lambda\varepsilon)^{-\frac{1}{2}} e^{-\frac{\beta d_a}{\varepsilon}} + O(\varepsilon^{-1} \lambda^{-1} e^{-\frac{d_a}{\varepsilon}}) \end{aligned}$$

where β is fixed and $1 - \sigma < \beta < 1 + \sigma$.

Using (6.5) – (6.7), (2.16) holds for $n = 3$.

When $n = 4, 5$, using (6.5), we have

$$(6.8) \quad \begin{aligned} J_\lambda[W_1] &= (n-2) \int_{\Omega_\lambda} U_{\xi,1}^{\frac{2n}{n-2}} - \frac{n(n-2)}{2} \int_{\Omega_\lambda} U_{\xi,1}^{\frac{n+2}{n-2}} (W_1 - U_{\xi,1}) \\ &\quad + O\left(\int_{\Omega_\lambda} U_{\xi,1}^{\frac{4}{n-2}} (W_1 - U_{\xi,1})^2 + \int_{\Omega_\lambda} |W_1 - U_{\xi,1}|^{\frac{2n}{n-2}}\right). \end{aligned}$$

Now compute term by term.

$$\begin{aligned} (n-2) \int_{\Omega_\lambda} U_{\xi,1}^{\frac{2n}{n-2}} &= (n-2) \int_{R^n} U_{0,1}^{\frac{2n}{n-2}} + O(\lambda^{-n}), \\ -\frac{n(n-2)}{2} \int_{\Omega_\lambda} U_{\xi,1}^{\frac{n+2}{n-2}} (W_1 - U_{\xi,1}) &= -\frac{n(n-2)}{2} \int_{\Omega} U_{a,\lambda}^{\frac{n+2}{n-2}} (V_{a,\lambda} - U_{a,\lambda}) \\ &= \frac{1}{2} \int_{\Omega} \Delta U_{a,\lambda} (V_{a,\lambda} - U_{a,\lambda}) \\ &= \frac{1}{2} \int_{\Omega} U_{a,\lambda} (\Delta V_{a,\lambda} + n(n-2) U_{a,\lambda}^{\frac{n+2}{n-2}}) \\ &= \frac{1}{2} \varepsilon^{-2} \int_{\Omega} U_{a,\lambda}^2 + O(\varepsilon^{-1} \lambda^{-2}) \\ &= (A_n + o(1)) (\lambda \varepsilon)^{-2} (\ln \lambda)^m + O(\varepsilon^{-1} \lambda^{-2}) \end{aligned}$$

where A_n is positive, $m = 1$ if $n = 4$ and $m = 0$ if $n = 5$.

$$(6.9) \quad \begin{aligned} \int_{\Omega_\lambda} U_{\xi,1}^{\frac{4}{n-2}} (W_1 - U_{\xi,1})^2 &= O\left(\varepsilon^{-6} \lambda^{-4} \int_{\Omega_\lambda} (1 + |y - \xi|)^{-2n+4}\right) \\ &= O(\varepsilon^{-1} \lambda^{-n+2}), \\ \int_{\Omega_\lambda} |W_1 - U_{\xi,1}|^{\frac{2n}{n-2}} &= O(\varepsilon^{-1} \lambda^{-n+2}). \end{aligned}$$

Using (6.8), (6.9) we get

$$(6.10) \quad J_\lambda[W_1] = (n-2) \int_{R^n} U_{0,1}^{\frac{2n}{n-2}} + (A_n + o(1)) (\lambda \varepsilon)^{-2} (\ln \lambda)^m + O(\varepsilon^{-1} \lambda^{-2}).$$

Similarly, we have

$$(6.11) \quad \begin{aligned} I_{\lambda,1} &= O\left(\int_{\Omega_\lambda} |W_1|^{\frac{4}{n-2}} W_2^2 + |W_2|^{\frac{4}{n-2}} W_1^2\right) = O(\varepsilon^{-1} \lambda^{-2}), \\ I_{\lambda,2} &= n(n-2) \int_{\Omega_\lambda} (\lambda \varepsilon)^{-\frac{n-2}{2}} W_\varepsilon \frac{y}{\lambda} V_{a,\lambda}^{\frac{n+2}{n-2}} \lambda^{-\frac{n+2}{2}} \\ &= n(n-2) \int_{\Omega} \varepsilon^{-\frac{n-2}{2}} W_\varepsilon(x) V_{a,\lambda}^{\frac{n+2}{n-2}} dx \\ &= n(n-2) \varepsilon^{-\frac{n-2}{2}} \int_{\Omega} W_\varepsilon(x) V_{a,\lambda}^{\frac{n+2}{n-2}} + O(\varepsilon^{-1} \lambda^{-2}) \\ &= (B_n + o(1)) (\lambda \varepsilon)^{-\frac{n-2}{2}} e^{-\frac{\beta d_n}{\varepsilon}} + O(\varepsilon^{-1} \lambda^{-2}) \end{aligned}$$

where β is defined as before and B_n is positive. According to (6.5), (6.8)–(6.11), (2.16) holds for $n = 4, 5$.

Differentiating (6.5) with respect to λ and by the similar computation, the estimates of $E_i, i = 1, 2$ hold for the first and second derivatives with respect to λ . This concludes the proof of Lemma 2.3. \square

ACKNOWLEDGEMENTS

The second author is supported by an Earmarked Grant from RGC of Hong Kong. We thank Professor Shusen Yan for useful discussions.

REFERENCES

- [1] Adimurthi, F.Pacella and S.L. Yadava, *Interaction between the geometry of the boundary and positive solutions of a semilinear Neumann problem with critical nonlinearity*, J. Funct. Anal. **113** (1993), 318-350.
- [2] Adimurthi, G.Mancini, *The Neumann problem for elliptic equations with critical nonlinearity*, in "A Tribute in Honour of G.Prodi", Nonlinear Anal., Scuola Norm. Sup. Pisa (1991), 9-25.
- [3] Caffarelli, L., Gidas, B., Spruck, J.: *Asymptotic symmetry and local behavior of semilinear elliptic equations with critical Sobolev growth*, Comm. Pure Appl. Math. **42** (1989), 271-297.
- [4] D.Cao, E.Noussair and S.Yan, *Existence and nonexistence of interior-peaked solution for a nonlinear Neumann problem*, Pacific J. Math. **200** (2001), no.1, 19-41.
- [5] N.Ghoussoub and C.Gui, *Multi-peak solutions for a semilinear Neumann problem involving the critical Sobolev exponent*, Math. Z. **229** (1998), 443-474.
- [6] N.Ghoussoub, C.Gui and M.Zhu, *On a singularity perturbed Neumann problem with the critical exponent*, Comm.Part.Diff.Equ.**26** (2001), 1929-1946.
- [7] C.Gui and J.Wei, *On multiple mixed interior and boundary peak solutions for some singularly perturbed Neumann problems*, Can. J. Math., **52** (2000), 522-538.
- [8] F.-H. Lin, W.-M. Ni and J. Wei, *On the number of interior peak solutions for some singularly perturbed Neumann problems*, Comm. Pure and Applied Math., **60** (2007), no. 2, 252-281.
- [9] P. L. Lions, *Generalized Solutions of Hamilton-Jacobi Equations*, in "Pitman Research Notes Series", Pitman, London(1982).
- [10] A. Malchiodi and M.Montenegro, *Multidimensional boundary layers for a singularly perturbed Neumann problem*, Duke Math. J. **124** (2004), 105-143.
- [11] M. Del Pino, P. Felmer, M. Musso, *Two-bubble solutions in the super-critical Bahri-Coron's problem*, Calc. Var. Partial Differential Equations **16** (2003), 113-145.
- [12] W.-M. Ni, *Qualitative properties of solutions to elliptic problems*, Stationary partial differential equations. **vol.I**, 157-233, Handb. Differ. Equ., North-Holland, Amsterdam, 2004.
- [13] O.Rey, *An elliptic Neumann problem with critical nonlinearity in three dimensional domains*, Comm. Contemp. Math. **1** (1999), 405-449.
- [14] O.Rey, *The question of interior blow-up points for an elliptic Neumann problem : the critical case*, J. Math. Pures Appl. **81** (2002), 655-696.
- [15] O.Rey, *The role of the Green's function in a nonlinear elliptic equation involving the critical Sobolev exponent*, J. Funct. Anal. **89** (1990), no.1, 1-52.
- [16] O.Rey and J. Wei, *Blowing up solutions for an elliptic Neumann problem with sub- or super-critical nonlinearity, Part I: $N = 3$* , J. Funct. Anal. **212** (2004), no.2, 472-499.
- [17] O.Rey and J. Wei, *Blowing up solutions for an elliptic Neumann problem with sub- or super-critical nonlinearity, Part II, $N \geq 4$* , Ann. Inst. H. Poincare Anal. Nonlinear **22 no.4**, (2005), 459-484.
- [18] J. Wei and S.Yan, *Solution Explosant Au Centre Et Le Long Du Bord Pour Un Problème Elliptique De Neumann Avec Non-Linéarité Critique*, C. R. Acad. Sci. Paris, accepted for publication.
- [19] Z.Q. Wang, *High energy and multi-peaked solutions for a nonlinear Neumann problem with critical exponent*, Proc. Roy. Soc. Edimburgh **125A** (1995), 1003-1029.

Received September 2006; revised February 2007.